KA B—FaF I EORBRFHEKRE(2BAR)
BB ILKELE

2025%10A 268 (H)

* ZAEKE 720 *TLIT7LTE UnN—HIL 8:15~8:50
* BEERE 910
* BEFZ{EAIE 8:00~
7<Ba OPEN ##t]] 8:45 —REF Y 11:30
JOLa OPEN ##t]  9:30 U—REF MY 1150
7OBa OPEN ##t] 10:00 D—REF ) 12:15
F7<Lla OPEN #Y]  11:00 V—REF @YU 11:.00
No. | B¥fE | BE o ay Eq= % | UPHER |e—&| Figup|meesn| {F &
1 19:00 5 5 2753
2 19:27 MeEE 193
3 19:28 BEERBN 25>
4 19:30| |[7¥-HK—WI—L OPEN | #£1%:& | WIFQ | 6448 | 48UP | 8H | 6UP | 45%
9 |10:15 {RRE - B eI ER 28 253
6 [10:17| |7°B-7TY OPEN F1%# | CSRP | 5248 | 42uP | 6H | 7UP | 36%
7 [10:53 {RRE - B eI ER 28 253
8 1055 |7°A-k—))b—h OPEN | £1%5&E | WIFQ | 74#8 | 48UP | 8H | 6UP | 45%
9 |11:40 1REE - Bl R B 25>
10 |11:42( [7V-7T> OPEN F1F#E | CSRP | 354 | 24UP | 4H | 6UP | 23%
11 [12:05 RER-BSEERE - O 07 BT 553
12 [12:10] |7¥-F—=I—L OPEN | E2%%E | WTFQ | 4948 | 24uP | 4H | 6UP | 23% | > —K148
13 |12:33 1REE - BRI R B 25
14 |12:35| |7°0-3TY OPEN E2%®E | CSRP | 4748 | 28UP | 4H | 7UP | 24% | > —K548
15 |12:59 1REE - BRI R B 25
16 [13:01 |7'B-F—)LIb—L OPEN | E£2%2 | WIFQ | 53% | 28UP | 4H | 7UP | 24% | > —K5#8
17 |13:25 REE-FrRERE- D07 ERE 553
18 [13:30 73-772 OPEN =I&F#E | CSRPJ | 24#H 12UP | 2H | 6UP | 14%
19 [13:44 1REE - BRI R B 25
20 |1346| |7V¥-K—I—L OPEN |H#&F:#| WTVFQ | 2448 | 12UP | 2H | 6UP | 14%
21 {14:00 1REE - B R B 25
22 [14:.02 7°'0-37Y OPEN =I&F#E | CSRPJ | 28#H 14UP | 2H | 7UP | 15%
23 |14:17 1REE - B R B 25
24 |14:19] |7’'A-F —=I—L OPEN |H#&F:#| WTVFQ | 28f | 14UP | 2H | 7UP | 15%
25 [14:34 REE-FrERE- D07 ERE 55
26 |14:39 BEEEREN - KEBRN-THRERE 155




No. |Rfa] | BE voiay &R 0% | uPH |e—r&|FHup|mEmE| i E
27 [14:54 TLE7 LTEVAMN—2aY 3545
28 [15:29 vITF7AFILAL—F 1593
29 |15:44 - -OO7ER 553
30 [15:49] |7V¥-7T2 OPEN #ERB | CSRPJ | 1248 6UP | 1H | 6UP | 7%
31 [15:56 REE - BEFEIER 22 253
32 (1558 |7V & —LI—L OPEN H#ERB: | WTVFQ | 1248 6UP | 1H | 6UP | 7%
33 [16:05 REE - BEFEIER 22 253
34 |16:07| [7°R-3TY OPEN #RM: | CSRPJ | 1458 JUP | 1H | 7UP | 7%
35 [16:14 REE - BEFEIER 22 253
36 [16:16] |7°A-F—)LI—L OPEN R | WIVFQ | 1488 JUP | 1H | 7UP | 7%
37 (16:23 KE-BrERE- D07 FiR 55
38 [16:28 SLRTEVRIL—23Y 109
39 [16:38 BEEERBN 55
40 (16:43 T3-772 OPEN R B | CSRPJ | 648 JERE | 1H 109
41 |16:53 1R ER - B ] 3 2 25>
42 |16:55| |7¥-K —=)L)—L OPEN R OB | WTVFQ | 648 JEfRL | 1H 1043
TOSTURBEREYOF VR
43 |17.05| [7°m-3TY OPEN R OB | CSRPJ | 74 IER | 1H 2043
TOR—)LIL—LRBEHBYAT R
44 (17:25| |7°0-K=N—L OPEN R B [wivre | 748 JER | 1H 20%)
45 |17:45 = & R 1553
46 [18:00 FF—FR(F71GL FO14L~341) 205
47 [18:20 A = ’T
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